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o gt = Oll & 24 (A) (B) (A - B)
HAX 2 HE-PCE OH( B AL PMS, LHPCXI 21 01) 13,000,000
-AEXLSEH 850,000
~ABHYXE AIERE 2,000,000
-Adobe E2t 2tOol & A 100,000,000
-APR A S8 "Wt dERZ 1,500,000
-EdSH I 1,056,000
OICIHZ0Z-SAII L X2 4,620,000
HIMOITHIE —=S AL 3,600,000
4219 JIEFAI & 22l b] 0 0 0
4220 LBt&el | 812,242 857,952 N45,710
4221 (Ul S| 1,600 4,800 A3,200
SR -=SWHE&ZH| 1,000,000
AL EE 1 SHI 600,000
4222 Xt R XYl 10,600 13,200 22,600
SR - RS 6,000,000
X2k (20H) =24l 4,000,000
-1, sds S 600,000
4223 A~ 2 ZH| 193,085 222,995 229,910
SR =204, SIAY, stE4 =& e 36,000,000
204, A S AE B UM 23,000,000
—AlEA otMae AME B N 2,000,000
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—HERN E SU/EE HRE E2F 5,000,000
=4 -SAEZX A 300,000
Jl 2l -SAI EUH 80,000
-SAEZX A 400,000

w20 [WRH]
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Al & 250,000
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Ot -SAIEX A, B4 940,000

-SAIIEYH 350,000
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2 = 25085 | G oo | S & 8 2 3 (29 Q)
o gt = Oll & 24 (A) (B) (A - B)

JI o “HHAAHE S 3,500,000

=Rl 1,000,000

-tis&=2A, 010IX =l 10,000,000

-XSAtel g4 &=t 2,000,000

mEni; —WEAMNES I 8,500,000

SR -YEZ0 ANz 1,000,000

Fg2c/u -8 Es d+9 2 iy 350,000

4236 3|9/ 77,240 79,740 A2,500

S “HIE RN BRE2H 2,400,000
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